POWIERZCHNIE WARSTWZ [m2] ODLEGEOSC OBJETOSCI [m3]

PIKIET2Z WYROW . WIRZACA SCIERAL. [m] WYROWN. WIAZACA SCIERAL.
04011, 64 0,00 0,31 0,00

13,45 2:92 3,55 0,00
0+025, 09 0,40 0,21 0,00

2,10 0,88 0,43 0,00
0+027,13 0,44 0,13 0,00

2,81 1,08 0,55 0,00
04030, 00 0,33 0,20 0,00

5,69 2,40 1,14 0,00
04035, 63 0,51 0,20 0,00

3,31 5,08 1,87 0,00
04045, 00 0,58 0,20 0,00

15,00 8,74 2,97 0,00
04080, 00 0,58 0,20 0,00

15,00 8,76 3,04 0,00
04075, 00 0,53 0,21 0,00

15,00 3,96 P 0,00
04030, 00 0,74 0,21 0,00

15,00 3,93 3,02 0,00
04105, 00 0,58 0,20 0,00

1,80 1,16 0,35 0,00
0+1086, 80 0,71 0,20 0,00

13,20 3,65 2,60 0,00
0+120,00 0,76 0,20 0,00

15,00 12,12 2,89 0,00
0+135,00 0,86 0,18 0,00

15,00 3,66 2,83 0,00
04150, 00 0,43 0,20 0,00

9,42 5,01 1,87 0,00
04159, 42 0,64 0,20 0,00

4,38 2,77 0,87 0,00
0+1&3,78 0,63 0,20 0,00

1,22 0,71 0,24 0,00
0+165,00 0,53 0,20 0,00

15,00 8,74 3,00 0,00
0+180, 00 0,63 0,20 0,00

SUMA : WYROWNAWCZA[m3] = 99,38 ; WIAZACA[m3] = 34,41 ; SCIERALNA([m3] = 0,00



